	Type of shareholder/ debenture holder	Category of shareholder	Details of shareholder/ debenture holder	Name of shareholder/ debenture holder	Type of accounty mile	Class of security held	Folio Number / Reference Number	DP ID-Client Id-Account Number	Nationality/ Country of incorporation	Gender	Type of Identifier	Identification No.	Occupation	Number of security held		ity Total amount securities hel
1	Individual	Promoter	Not applicable	Manish Kumar Goyal	Equity	Equity Share		00026521, 24705138	India	Male	Income Tax PAN	AASPG4862A	Business	2479600	10	2479600
3	Individual	Promoter Promoter	Not applicable Not applicable	Puran Puri Rajesh Swami	Equity	Equity Share Equity Share		24461788 24447621	India	Male Male	Income Tax PAN	BOEPP2161Q CGWPSS968R	Business	1591684 1408880	10	1591684
4	Individual	Promoter	Not applicable Not applicable	Sunil Singh	Equity	Equity Share		42038477	India	Male	Income Tax PAN	CONPS3299N	Business	369448	10	36944
5	Individual	Promoter	Not applicable	Ritu Goyal	Equity	Equity Share		00042474	India	Female	Income Tax PAN	AHZPG0610Q	Business	304000	10	30400
6	Individual	Promoter	Not applicable	Manoj Sharma	Equity	Equity Share		11037187	India	Male	Income Tax PAN	CTOPS6578Q	Business	174724	10	17472
7	Individual	Promoter	Not applicable	Gagan Jain Manish Kumar Goval	Equity	Equity Share		00028731	India	Male	Income Tax PAN	AJXPJ0852D	Business	174724	10	17472
8	Individual	Promoter	Not applicable	HUF	Equity	Equity Share		00042377	India	Not applicable	Income Tax PAN	AAPHM8131H	Business	89056	10	8905
9	Individual	Promoter Promoter	Not applicable Not applicable	Vaishali Goyal Poonam Swami	Equity	Equity Share Equity Share		00105111 72958221, 78364617	India	Female Female	Income Tax PAN	COTPG5649L MCDPS0377P	Business Business	520 520	10	520 520
11	Individual	Promoter	Not applicable	Pooja Bharti Goswami	Equity	Equity Share		78312173	India	Female	Income Tax PAN	CRCPB2350K	Business	520	10	520
12	Individual	Other than promoter	Not applicable	HARSH JAIN	Equity	Equity Share		10076988	India	Male	Income Tax PAN	AKZPJ3928R	Business	840336	10	8403
13	Entity	Other than promoter	Body corporate (not mentioned above)	YASH SHARES AND STOCK	Equity	Equity Share		00150768	India	Not applicable	CIN	U67120MH2003PTC142577	Business	500000	10	5000
14	Entity	Other than promoter	Body corporate (not	WCA SERVICES	Equity	Equity Share		00018543	India	Not applicable	CIN	U46900DL2019PTC346714	Business	402854	10	4028
	.,		mentioned above)	PRIVATE LIMITED		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,										
15	Individual	Other than promoter	Not applicable	YASHPAL GARG	Equity	Equity Share		54079362	India	Male	Income Tax PAN	ACBPY2539F	Business	402628	10	40262
16	Entity	Other than promoter	Body corporate (not mentioned above)	LUCRUM CAPITAL ADVISORS PRIVATE LIMITED	Equity	Equity Share		01198525	India	Not applicable	CIN	U65923DL2015PTC277306	Business	400000	10	4000
17	Individual	Other than promoter	Not applicable	ANUJ SHANTILAL	Equity	Equity Share		00000015	India	Male	Income Tax PAN	ABOPB5644E	Business	210084	10	2100
18	Individual	Other than promoter	Not applicable	BADJATE RAVI BHATIA	Equity	Equity Share		00036367	India	Male	Income Tax PAN	AFQPB7773N	Business	210084	10	21000
	Individual			DAKSH AGARWAL				02929163	India		Income Tax PAN	BUFPA0469M	Business	200000		20000
19		Other than promoter	Not applicable		Equity	Equity Share				Male					10	
20	Individual	Other than promoter	Not applicable	PRADEEP NANDAL	Equity	Equity Share		53327403	India	Male	Income Tax PAN	AAEPN1223C	Business	113064	10	1130
21	Individual	Other than promoter	Not applicable	SANDEEP BANSAL .	Equity	Equity Share		02157856	India	Male	Income Tax PAN	AACPB7067Q	Business	82818	10	8281
22	Individual	Other than promoter	Not applicable	KAPOOR CHAND GARG	Equity	Equity Share		06116969	India	Male	Income Tax PAN	AJWPG1270H	Business	75000	10	7500
23	Individual	Other than promoter	Not applicable	VINAY LADDHA	Equity	Equity Share		90166414	India	Male	Income Tax PAN	ACVPL0877H	Business	50400	10	5040
24	Individual	Other than promoter	Not applicable	SUCHITA BAGADIA	Equity	Equity Share		12343919	India	Female	Income Tax PAN	APSPB9572R	Business	50000	10	5000
25	Individual	Other than promoter	Not applicable	MAHESH GOYAL	Equity	Equity Share		33255561	India	Male	Income Tax PAN	AMAPG2460L	Business	40000	10	4000
26	Individual	Other than promoter	Not applicable	ROHIT MANGAL	Equity	Equity Share		80989768	India	Male	Income Tax PAN	AQWPM1384K	Business	40000	10	4000
27	Entity	Other than promoter	Body corporate (not mentioned above)	ARPNA CAPITAL SERVICES	Equity	Equity Share		03749988	India	Not applicable	CIN	U65993UP1997PTC230899	Business	37400	10	3740
28	Individual	Other than promoter	Not applicable	VIPIN KUMAR VII	Equity	Equity Share		31950552	India	Male	Income Tax PAN	ABBPV1208K	Business	35000	10	3500
29	Individual	Other than promoter	Not applicable	ASHOK KUMAR GOYAL	Equity	Equity Share		06117029	India	Male	Income Tax PAN	AERPG8174Q	Business	33200	10	3320
30	Individual	Other than promoter	Not applicable	VIKAS GUPTA	Equity	Equity Share		33787369	India	Male	Income Tax PAN	AKMPG0415D	Business	30000	10	3000
31	Individual	Other than promoter	Not applicable	MITHUN LALITKUMAR KOTHARI HUF	Equity	Equity Share		51173074	India	Not applicable	Income Tax PAN	AATHM6918C	Business	29600	10	2960
				KOTHAKIHUF												
32	Individual	Other than promoter	Not applicable	DHEERAJ AGARWAL HUF .	Equity	Equity Share		01433846	India	Not applicable	Income Tax PAN	AAKHD6862P	Business	28725	10	2872
33	Individual	Other than promoter	Not applicable	SANJAY KUMAR	Equity	Equity Share		10310328	India	Male	Income Tax PAN	AAGP86020R	Business	25000	10	2500
34	Individual	Other than promoter	Not applicable	BANSAL NISHANT BARANWAL	Equity	Equity Share		12303963	India	Male	Income Tax PAN	AKMPBS298F	Business	24000	10	2400
35	Individual	Other than promoter	Not applicable	SHAMIK BARANWAL	Equity	Equity Share		00060611	India	Male	Income Tax PAN	AALPB7003K	Business	24000	10	240
36	Individual	Other than promoter	Not applicable	SADHNA SHAMIK	Equity	Equity Share		00106567	India	Female	Income Tax PAN	AALPB8166H	Business	24000	10	240
27				BARANWAL												227
37	Individual	Other than promoter	Not applicable	INDU BANSAL	Equity	Equity Share		00085063	India	Female	Income Tax PAN	ADHPB4186A	Business	22750	10	
38	Individual	Other than promoter	Not applicable	NISHA ARORA	Equity	Equity Share		46961742	India	Female	Income Tax PAN	AAJPA6822B	Business	22222	10	2222
39	Individual	Other than promoter	Not applicable	NEHA SHAH	Equity	Equity Share		99072781	India	Female	Income Tax PAN	CVMPS1950E	Business	21600	10	2160
40	Individual	Other than promoter	Not applicable	PRAVEEN VASHISTHA	Equity	Equity Share		54999113	India	Male	Income Tax PAN	AEBPV8219B	Business	20000	10	2000
41	Individual	Other than promoter	Not applicable	RITU PATWARI	Equity	Equity Share		60618407	India	Female	Income Tax PAN	BBEPP8055N	Business	20000	10	2000
42	Individual	Other than promoter	Not applicable	RENU GUPTA	Equity	Equity Share		64856498	India	Female	Income Tax PAN	CXKPK0542C	Business	20000	10	2000
43	Individual	Other than promoter	Not applicable	SAHIL MODI HUF	Equity	Equity Share		76999713	India	Not applicable	Income Tax PAN	ABDHS7981N	Business	20000	10	2000
44	Individual	Other than promoter	Not applicable	SACHIN KAILASCHAND CHANDIWAL	Equity	Equity Share		15780308	India	Male	Income Tax PAN	ADIPC7130J	Business	20000	10	2000
45	Individual	Other than promoter	Not applicable	HIMANSHU	Equity	Equity Share		05549009	India	Male	Income Tax PAN	ALQPK3165M	Business	20000	10	2000
				KHANDELWAL				,								_
46	Individual	Other than promoter	Not applicable	RISHABH JAIN .	Equity	Equity Share		14856249	India	Male	Income Tax PAN	BBHPJ6214Q	Business	20000	10	2001
47	Individual	Other than promoter	Not applicable	KUSH ADITYA SOMAIYA	Equity	Equity Share		00090073	India	Male	Income Tax PAN	LNCP57860L	Business	20000	10	2001
48	Individual	Other than promoter	Not applicable	ANKUR GULATI	Equity	Equity Share		02325859	India	Male	Income Tax PAN	AJFPG7325N	Business	20000	10	2000
49	Individual	Other than promoter	Not applicable	KAVITA BANSAL	Equity	Equity Share		84460925	India	Female	Income Tax PAN	AWKPB9340A	Business	20000	10	2000
50	Individual	Other than promoter	Not applicable	ANKITA MANGAL	Equity	Equity Share		87570768	India	Female	Income Tax PAN	BALPAS763Q	Business	20000	10	2000
51	Individual	Other than promoter	Not applicable	SAROJ DEVI	Equity	Equity Share		05676840	India	Female	Income Tax PAN	AVYPD8157G	Business	19000	10	1900

52	Individual	Other than promoter	Not applicable	KALPANA SAINI	Equity	Equity Share		26828460	India	Female	Income Tax PAN	GBLPS9414Q	Business	18250	10	182500.00
53	Individual	Other than promoter	Not applicable	PAWAN MAHESHWARI	Equity	Equity Share		10326188	India	Male	Income Tax PAN	AAJHPS267P	Business	16000	10	160000.00
54	Individual	Other than promoter	Not applicable	SANDEEP KUMAR PARAKH J	Equity	Equity Share		33794034	India	Male	Income Tax PAN	ADOPP9701A	Business	15000	10	150000.00
55	Individual	Other than promoter	Not applicable	SOHINIDEVI SARDA	Equity	Equity Share		47051587	India	Female	Income Tax PAN	EUPPS4199H	Business	15000	10	150000.00
56	Individual	Other than promoter	Not applicable	PAWAN KUMAR GARG HUF	Equity	Equity Share		10252156	India	Not applicable	Income Tax PAN	AAJHP0426Q	Business	14250	10	142500.00
57	Individual	Other than promoter	Not applicable	SAPNA MANDOWARA	Equity	Equity Share		07008671	India	Female	Income Tax PAN	BCAPM3630F	Business	12800	10	128000.00
58	Individual	Other than promoter	Not applicable	USHA DEVI	Equity	Equity Share		45307860	India	Female	Income Tax PAN	GXMPD7814Q	Business	12000	10	120000.00
59	Individual	Other than promoter	Not applicable	KAMLESH JETHLIYA	Equity	Equity Share		11148749	India	Male	Income Tax PAN	AFCPJ1874N	Business	11200	10	112000.00
60	Individual	Other than promoter	Not applicable	HARSH SINGHAL	Equity	Equity Share		80366467	India	Male	Income Tax PAN	DGSPS4424M	Business	11111	10	111110.00
61	Individual	Other than promoter	Not applicable	NITIN KOHLI	Equity	Equity Share		00829824	India	Male	Income Tax PAN	ALFPK1304F	Business	10240	10	102400.00
62	Individual	Other than promoter	Not applicable	RACHIT MODI	Equity	Equity Share		87460397	India	Male	Income Tax PAN	ANFPM8122M	Business	10000	10	100000.00
63	Individual	Other than promoter	Not applicable	FAIZ UDDIN	Equity	Equity Share		36311434	India	Male	Income Tax PAN	AAFPU1544A	Business	10000	10	100000.00
64	Individual	Other than promoter	Not applicable	PAWAN KUMAR AGGARWAL	Equity	Equity Share		76701187	India	Male	Income Tax PAN	AAHPA4088P	Business	10000	10	100000.00
65	Individual	Other than promoter	Not applicable	PUNAM AGGARWAL	Equity	Equity Share		76704968	India	Female	Income Tax PAN	AAHPA4970A	Business	10000	10	100000.00
66	Individual	Other than promoter	Not applicable	AMIT KUMAR NAMA HUF	Equity	Equity Share		01236580	India	Not applicable	Income Tax PAN	AAVHAZ195K	Business	10000	10	100000.00
67	Individual	Other than promoter	Not applicable	NISHTHA YADAV	Equity	Equity Share		50062874	India	Female	Income Tax PAN	ALPPY5616E	Business	10000	10	100000.00
68	Individual	Other than promoter	Not applicable	MONALISHA	Equity	Equity Share		25573721	India	Female	Income Tax PAN	HNHPM8433C	Business	8000	10	80000.00
69	Individual	Other than promoter	Not applicable	AMIT SOMANI	Equity	Equity Share		15851304	India	Male	Income Tax PAN	BJDPS1243L	Business	8000	10	80000.00
	Individual	Other than promoter	Not applicable	PRITIJAIN	Equity	Equity Share		35127504	India	Female	Income Tax PAN	AKUPIS808M	Business	8000	10	80000.00
70																
71	Individual	Other than promoter	Not applicable	SHWETA GUPTA	Equity	Equity Share		24081743	India	Female	Income Tax PAN	AXDPG0513E	Business	7200	10	72000.00
72	Individual	Other than promoter	Not applicable	VIMAL BHATRA	Equity	Equity Share		00997888	India	Male	Income Tax PAN	AVYPB0204E	Business	7000	10	70000.00
73	Individual	Other than promoter	Not applicable	SONIA BANSAL	Equity	Equity Share		00118102	India	Female	Income Tax PAN	ANKPB6878L	Business	7000	10	70000.00
74	Individual	Other than promoter	Not applicable	AARTI .	Equity	Equity Share		00160822	India	Female	Income Tax PAN	CJBPA1129C	Business	7000	10	70000.00
75	Individual	Other than promoter	Not applicable	SHILPA MAYUR LADDHA	Equity	Equity Share		22239315	India	Female	Income Tax PAN	AVBPK6238N	Business	7000	10	70000.00
76	Individual	Other than promoter	Not applicable	AVINASH SHARMA	Equity	Equity Share		21374678	India	Male	Income Tax PAN	DROPS2029P	Business	6875	10	68750.00
77	Individual	Other than promoter	Not applicable	RAMESH MUNDHRA	Equity	Equity Share		02137921	India	Male	Income Tax PAN	BPUPM6428N	Business	6599	10	65990.00
78	Individual	Other than promoter	Not applicable	KETAN	Equity	Equity Share		42034542	India	Male	Income Tax PAN	ADRPN4002H	Business	6500	10	65000.00
/8	muvosa	Other trial provider	ногарисани	JAGDISHCHANDRA NAWAL	Equity	Equity arms		410004	11111	Nan-C	III. CHILL THAT PAR	ADMINISTRA	Dustress	0.00	10	030030
79	Individual	Other than promoter	Not applicable	SANJAY LADDHA	Equity	Equity Share		87814589	India	Male	Income Tax PAN	ACUPL6382Q	Business	6500	10	65000.00
80	Individual	Other than promoter	Not applicable	KALAVATI K SHAH	Equity	Equity Share		05146858	India	Female	Income Tax PAN	CZAPS5550C	Business	6400	10	64000.00
81	Individual	Other than promoter	Not applicable	RACHIT GUPTA	Equity	Equity Share		10129775	India	Male	Income Tax PAN	CTOPG2985B	Business	6000	10	60000.00
82	Individual	Other than promoter	Not applicable	POONAM GOYAL	Equity	Equity Share		53733118	India	Female	Income Tax PAN	AJYPG8149F	Business	6000	10	60000.00
83	Entity	Other than promoter	Body corporate (not	CAPACIOUS WEALTH	Equity	Equity Share		01304765	India	Not applicable	LLPIN	AAX-6994	Business	5600	10	56000.00
83	Littly	Other trial provider	mentioned above)	MANAGEMENT LLP	Equity	Equity arms		01304763	11010	ног врупского	LD III	ANGUA .	Dustress	3000	10	3400.50
84	Individual	Other than promoter	Not applicable	HARISH GUPTA	Equity	Equity Share		01444837	India	Male	Income Tax PAN	AEQPG5192R	Business	5600	10	56000.00
85	Individual	Other than promoter	Not applicable	SOURABH JAIN	Equity	Equity Share		04310086	India	Male	Income Tax PAN	ANSPI8148H	Business	5600	10	56000.00
				BHARAT KUMAR												
86	Individual	Other than promoter	Not applicable		Equity	Equity Share		63626887	India	Male	Income Tax PAN	CCJPK6553K	Business	5600	10	56000.00
87	Individual	Other than promoter	Not applicable	ANKITHALWAI HUF	Equity	Equity Share	-	14077725	India	Not applicable	Income Tax PAN	AASHA1538F	Business	5600	10	56000.00
88	Individual	Other than promoter	Not applicable	PANKAJ LUNAWAT	Equity	Equity Share		17817570	India	Male	Income Tax PAN	AANPL1728K	Business	5000	10	50000.00
89	Individual	Other than promoter	Not applicable	DEEPAK KUMAR MITTAL	Equity	Equity Share		11055040	India	Male	Income Tax PAN	AFRPM8352D	Business	5000	10	50000.00
90	Individual	Other than promoter	Not applicable	DHIRAJ GUPTA	Equity	Equity Share		92968870	India	Male	Income Tax PAN	AGWPG7147G	Business	5000	10	50000.00
91	Individual	Other than promoter	Not applicable	SURENDRA KARNANI	Equity	Equity Share		37272036	India	Not applicable	Income Tax PAN	AAQHS6011P	Business	5000	10	50000.00
				HUF.												
92	Individual	Other than promoter	Not applicable	ANIRUDHA LODHA	Equity	Equity Share		00575808	India	Female	Income Tax PAN	ADNPL6574C	Business	5000	10	50000.00
93	Individual	Other than promoter	Not applicable	TARUN UTTAMCHANDANI	Equity	Equity Share		10658364	India	Male	Income Tax PAN	AANPU3710C	Business	5000	10	50000.00
94	Individual	Other than promoter	Not applicable	AASTHA GOLYAN	Equity	Equity Share		21480592	India	Female	Income Tax PAN	CJSPG1667C	Business	5000	10	50000.00
95	Individual	Other than promoter	Not applicable	BINIKA MAHESWARI	Equity	Equity Share		02863767	India	Female	Income Tax PAN	CBCPM1823L	Business	5000	10	50000.00
96	Individual	Other than promoter	Not applicable	AYUSH GUPTA	Equity	Equity Share		12819572	India	Male	Income Tax PAN	AQOPG7604E	Business	5000	10	50000.00
97	Individual	Other than promoter	Not applicable	ASHISH PRACHI JAIN	Equity	Equity Share		22501134	India	Not applicable	Income Tax PAN	AAVHA9702L	Business	5000	10	50000.00
98	Individual	Other than promoter	Not applicable	HUF CHANDRA PRAKASH	Equity	Equity Share		39798882	India	Male	Income Tax PAN	AFEPC6374A	Business	5000	10	50000.00
	Individual	Other than promoter	Not applicable	CHHIPA Asteek Dubey	Equity	Equity Share		70188036	India	Male	Income Tax PAN	BNFPD6443K	Business	5000	10	50000.00
99																
100	Individual	Other than promoter	Not applicable	PRAVEEN KUMAR BHATRA	Equity	Equity Share		27904539	India	Male	Income Tax PAN	AIRPB8753A	Business	5000	10	50000.00
101	Individual	Other than promoter	Not applicable	HEMA JAIN	Equity	Equity Share		41795637	India	Female	Income Tax PAN	ATIPI0890Q	Business	5000	10	50000.00
102	Individual	Other than promoter	Not applicable	ASHISH DIKSHIT	Equity	Equity Share		98134907	India	Male	Income Tax PAN	ALTPD8337K	Business	4800	10	48000.00
103	Individual	Other than promoter	Not applicable	ANUJ AHUJA	Equity	Equity Share		22838351	India	Male	Income Tax PAN	AHCPA6781H	Business	4800	10	48000.00
																48000.00
104	Individual	Other than promoter	Not applicable	PRAGYA JHANWAR	Equity	Equity Share		05146288	India	Female	Income Tax PAN	AXAPI4006C	Business	4800	10	48000.00

105	Individual	Other than promoter	Not applicable	AMITA	Equity	Equity Share		11293054	India	Female	Income Tax PAN	CLMPA8820P	Business	4091	10	40910.00
106	Individual	Other than promoter	Not applicable	RAJAT GOYAL	Equity	Equity Share		10933109	India	Male	Income Tax PAN	AGRPG7412P	Business	4000	10	40000.00
107	Individual	Other than promoter	Not applicable	VIRENDER BHASIN	Equity	Equity Share		60841405	India	Male	Income Tax PAN	AADPB7030Q	Business	4000	10	40000.00
108	Individual	Other than promoter	Not applicable	SATISH KUMAR JAIN	Equity	Equity Share		10171212	India	Male	Income Tax PAN	AAGP38355D	Business	4000	10	40000.00
109	Individual	Other than promoter	Not applicable	MUNISH GOYAL	Equity	Equity Share		62751783	India	Male	Income Tax PAN	AJVPG7801P	Business	4000	10	40000.00
110	Individual	Other than promoter	Not applicable	SATYA VEER	Equity	Equity Share		25879119	India	Male	Income Tax PAN	ACAPV7164L	Business	4000	10	40000.00
111	Individual	Other than promoter	Not applicable	SEEMA AGARWAL	Equity	Equity Share		03018515	India	Female	Income Tax PAN	AHYPA1401G	Business	4000	10	40000.00
	Individual			ARVIND JAIN				00932364		Male	Income Tax PAN	AHPPI4666D		4000		40000.00
112		Other than promoter	Not applicable		Equity	Equity Share			India				Business		10	
113	Individual	Other than promoter	Not applicable	HEMANT KUMAR AHUJA	Equity	Equity Share		01214519	India	Male	Income Tax PAN	AAFPA0358N	Business	4000	10	40000.00
114	Individual	Other than promoter	Not applicable	RAHUL GOYAL	Equity	Equity Share		68065889	India	Male	Income Tax PAN	BHUPG0423R	Business	4000	10	40000.00
115	Individual	Other than promoter	Not applicable	SOURABH PARNAMI	Equity	Equity Share		20206092	India	Male	Income Tax PAN	APUPP1624A	Business	4000	10	40000.00
116	Individual	Other than promoter	Not applicable	DIPAK KUMAR	Equity	Equity Share		42621611	India	Male	Income Tax PAN	DCKPK965SJ	Business	4000	10	40000.00
117	Individual	Other than promoter	Not applicable	Ritu Gupta	Equity	Equity Share		69636600	India	Female	Income Tax PAN	BBPPG2636F	Business	4000	10	40000.00
118	Individual	Other than promoter	Not applicable	SHASHI JAIN	Equity	Equity Share		02238213	India	Male	Income Tax PAN	AIQPJ2394G	Business	3600	10	36000.00
	Individual			AMIT KUMAR GOYAL				50000293	India	Male	Income Tax PAN	ABQPG5884P		3500	10	35000.00
119	Individual	Other than promoter	Not applicable	AMIT KUMAK GUYAL	Equity	Equity Share		50000293	India	Male	Income Tax PAN	ABUPUS884P	Business	3500	10	35000.00
120	Individual	Other than promoter	Not applicable	ANU MITTAL	Equity	Equity Share		12549292	India	Female	Income Tax PAN	BLSPM6120M	Business	3200	10	32000.00
121	Individual	Other than promoter	Not applicable	DEV ARORA HUF .	Equity	Equity Share		57647161	India	Not applicable	Income Tax PAN	AALHD9941C	Business	3200	10	32000.00
122	Individual	Other than promoter	Not applicable	DAUDAYAL AGRAWAL	Equity	Equity Share		00247795	India	Male	Income Tax PAN	AHZPA1992M	Business	3200	10	32000.00
123	Individual	Other than promoter	Not applicable	SUMAN SHARMA	Equity-	Equity Share		14966221	India	Female	Income Tax PAN	GANPS7429J	Business	3200	10	32000.00
					Equity											
124	Individual	Other than promoter	Not applicable	PURABI BANERJEE	Equity	Equity Share		17204107	India	Female	Income Tax PAN	BWTPB7112C	Business	3200	10	32000.00
125	Individual	Other than promoter	Not applicable	AKHLAQ HUSSAIN	Equity	Equity Share		71001720	India	Male	Income Tax PAN	ACDPH2759J	Business	3200	10	32000.00
126	Individual	Other than promoter	Not applicable	RAHUL RADHESHYAM SHAH	Equity	Equity Share		20166071	India	Male	Income Tax PAN	BDCPS1039R	Business	3200	10	32000.00
127	Individual	Other than promoter	Not applicable	ABHAY SHARMA	Equity	Equity Share		31912033	India	Male	Income Tax PAN	FNDPS2330L	Business	3200	10	32000.00
128	Individual	Other than promoter	Not applicable	MUDIT AGARWAL	Equity	Equity Share		05668019	India	Male	Income Tax PAN	FJJPA2687E	Business	3200	10	32000.00
129	Individual	Other than promoter	Not applicable	SHYAM MAHESHWARI	Equity	Equity Share		15705529	India	Male	Income Tax PAN	BJJPM4805L	Business	3001	10	30010.00
130	Individual	Other than promoter	Not applicable	RAJIV KUMAR	Equity	Equity Share		37265251	India	Male	Income Tax PAN	ASSPK9248C	Business	3000	10	30000.00
131	Individual	Other than promoter	Not applicable	VISHAL GOEL HUF	Equity	Equity Share		89299261	India	Not applicable	Income Tax PAN	AAKHV5404P	Business	3000	10	30000.00
132	Individual	Other than promoter	Not applicable	AAKASH GOYAL HUF.	Equity	Equity Share		09636439	India	Not applicable	Income Tax PAN	AAPHA3287G	Business	3000	10	30000.00
133	Individual	Other than promoter	Not applicable	VISHANGI AIMERA	Equity	Equity Share		32191385	India	Female	Income Tax PAN	DQAPA4631N	Business	3000	10	30000.00
134	Individual	Other than promoter	Not applicable	POOJA MAHESHWARI	Equity	Equity Share		04336731	India	Female	Income Tax PAN	FEMPM2361K	Business	3000	10	30000.00
135	Individual	Other than promoter	Not applicable	AMIT TAILOR	Equity	Equity Share		02612047	India	Male	Income Tax PAN	AYCPT2160Q	Business	2800	10	28000.00
136	Individual	Other than promoter	Not applicable	SHIKHA	Equity	Equity Share	-	93353635	India	Female	Income Tax PAN	BJYPR5927B	Business	2400	10	24000.00
137	Individual	Other than promoter	Not applicable	MEGHA KHANDELWAL	Equity	Equity Share		21746595	India	Female	Income Tax PAN	AQCPP6108N	Business	2400	10	24000.00
138	Individual	Other than promoter	Not applicable	SUMIT BANSAL	Equity	Equity Share		10113633	India	Male	Income Tax PAN	BBAPB7133F	Business	2400	10	24000.00
139	Individual	Other than promoter	Not applicable	VIKAS GOYAL	Equity	Equity Share		15628948	India	Male	Income Tax PAN	AQZPG3947R	Business	2400	10	24000.00
140	Individual	Other than promoter	Not applicable	YOGESH GOPIRAM	Equity	Equity Share		35773747	India	Male	Income Tax PAN	AAJPH1754R	Business	2400	10	24000.00
				HIMMATRAMKA	<u></u>			<u></u>					<u> </u>			
141	Individual	Other than promoter	Not applicable	PRATIMA NAMDEV	Equity	Equity Share	-	53878021	India	Female	Income Tax PAN	CKXPN4101N	Business	2400	10	24000.00
142	Individual	Other than promoter	Not applicable	ANAMIKA PARSAN	Equity	Equity Share		84323949	India	Female	Income Tax PAN	ALVPS4369N	Business	2000	10	20000.00
143	Individual	Other than promoter	Not applicable	RAMESH CHAND GOYAL	Equity	Equity Share		37218970	India	Male	Income Tax PAN	AMAPG2170P	Business	2000	10	20000.00
144	Individual	Other than promoter	Not applicable	DHEERAJ GUPTA (HUF)	Equity	Equity Share		40248075	India	Not applicable	Income Tax PAN	AAMHD7972C	Business	2000	10	20000.00
145	Individual	Other than promoter	Not applicable	GAYATRI TANDON	Equity	Equity Share		38184944	India	Female	Income Tax PAN	ASUPM0397E	Business	2000	10	20000.00
146	Individual	Other than promoter	Not applicable	JAI CHELLANI	Equity	Equity Share		03976546	India	Male	Income Tax PAN	BBCPC2011H	Business	2000	10	20000.00
147	Individual	Other than promoter	Not applicable	SONU SAINI	Equity	Equity Share		27308225	India	Male	Income Tax PAN	LGAPS8066D	Business	1750	10	17500.00
148	Individual	Other than promoter	Not applicable	DAKSHA SINGHAL	Equity	Equity Share		11915624	India	Male	Income Tax PAN	IAXPS1948L	Business	1600	10	16000.00
149	Individual	Other than promoter	Not applicable	MANISH KUMAR MAWANDIA	Equity	Equity Share		16226040	India	Male	Income Tax PAN	ACKPM7174P	Business	1600	10	16000.00
150	Individual	Other than promoter	Not applicable	SHYAM SUNDER	Equity	Equity Share		07653143	India	Male	Income Tax PAN	AAVPA5302L	Business	1600	10	16000.00
				AGARWAL .												
151	Individual	Other than promoter	Not applicable	BHAVESH SHARMA	Equity	Equity Share		12535405	India	Male	Income Tax PAN	JMUPS0942A	Business	1600	10	16000.00
152	Individual	Other than promoter	Not applicable	PREKSHA ROHAN CHECHANI	Equity	Equity Share		13422747	India	Male	Income Tax PAN	EPHPM21148	Business	1600	10	16000.00
153	Individual	Other than promoter	Not applicable	VINEET PRADIP MISHRA	Equity	Equity Share		00539889	India	Male	Income Tax PAN	BAKPM1786Q	Business	1600	10	16000.00
154	Individual	Other than promoter	Not applicable	RAHUL RAMESHCHANDRA KALYA	Equity	Equity Share	-	01542208	India	Male	Income Tax PAN	AIRPK6458P	Business	1600	10	16000.00
155	Individual	Other than promoter	Not applicable	NITOSH MAHESHWARI	Equity	Equity Share		72665396	India	Male	Income Tax PAN	AAPPM5904N	Business	1600	10	16000.00
156	Individual	Other than promoter	Not applicable	MANISH	Equity	Equity Share		01043789	India	Male	Income Tax PAN	ANKPS3629L	Business	1600	10	16000.00
				RADHESHYAMBHAI SHAH												
157	Individual	Other than promoter	Not applicable	NEHA AGARWAL	Equity	Equity Share		10805716	India	Female	Income Tax PAN	BCIPA9695L	Business	1600	10	16000.00
ш				1	<u> </u>	1			L				l	1		

158	Individual	Other than promoter	Not applicable	HITESH MARWAL	Equity	Equity Share	47403880	India	Male	Income Tax PAN	AWEPM4738M	Business	1600	10	16000.00
159	Individual	Other than promoter	Not applicable	ISHANT AGARWAL HUF	Equity	Equity Share	70102052	India	Not applicable	Income Tax PAN	AAAHI8369A	Business	1600	10	16000.00
160	Individual	Other than promoter	Not applicable	ANKIT AGRAWAL	Equity	Equity Share	29436568	India	Male	Income Tax PAN	AUMPA685SF	Business	1600	10	16000.00
161	Individual	Other than promoter	Not applicable	NISHA HITESHKUMAR SHAH	Equity	Equity Share	24908803	India	Female	Income Tax PAN	BXFPJ7632C	Business	1600	10	16000.00
162	Individual	Other than promoter	Not applicable	DINESH GURJAR	Equity	Equity Share	73435901	India	Male	Income Tax PAN	CLSPG7688D	Business	1600	10	16000.00
163	Individual	Other than promoter	Not applicable	KUNAL JAISWAL	Equity	Equity Share	47410821	India	Male	Income Tax PAN	CGDPJ4727N	Business	1600	10	16000.00
164	Individual	Other than promoter	Not applicable	ANJANI KUMAR GOYAL	Equity	Equity Share	05941609	India	Female	Income Tax PAN	AXHPGS369B	Business	1500	10	15000.00
165	Individual	Other than promoter	Not applicable	UTSAV DOGRA	Equity	Equity Share	41900706	India	Male	Income Tax PAN	BEPPD3493A	Business	1500	10	15000.00
166	Individual	Other than promoter	Not applicable	KANA RAMJAT	Equity	Equity Share	11234429	India	Male	Income Tax PAN	AJMPJ6644G	Business	1200	10	12000.00
167	Individual	Other than promoter	Not applicable	REETU SHARMA	Equity	Equity Share	13930335	India	Female	Income Tax PAN	CFZPS7834C	Business	1000	10	10000.00
168	Individual	Other than promoter	Not applicable	SON U AGARWAL	Equity	Equity Share	51957252	India	Male	Income Tax PAN	CJWPA7987H	Business	1000	10	10000.00
169	Individual	Other than promoter	Not applicable	BARKHARANI HARSH NEVATIA	Equity	Equity Share	65101265	India	Female	Income Tax PAN	AVXPC3278P	Business	800	10	8000.00
170	Individual	Other than promoter	Not applicable	JAGMOHAN GOYAL	Equity	Equity Share	00211118	India	Male	Income Tax PAN	AJTPG8427F	Business	800	10	8000.00
171	Individual	Other than promoter	Not applicable	PURUSHOTTAM SHARMA	Equity	Equity Share	06192930	India	Male	Income Tax PAN	EAJPS0668M	Business	800	10	8000.00
172	Individual	Other than promoter	Not applicable	VAIBHAV SUNIL AGGARWAL	Equity	Equity Share	25922796	India	Male	Income Tax PAN	BNAPA6906R	Business	800	10	8000.00